



Name: \_\_\_\_\_

Date: \_\_\_\_\_ Score: \_\_\_\_\_

$$\left(-\frac{3}{4}\right)^2 + \frac{3}{4} =$$

$$\left(\frac{1}{2}\right)^{(-1)} + \frac{1}{4} =$$

$$\left(\frac{1}{2}\right)^2 + \frac{3}{4} =$$

$$\left(\frac{1}{6}\right) - \frac{2}{5} =$$

$$\left(-\frac{1}{5}\right)^2 + \frac{1}{4} =$$

$$\left(\frac{1}{3}\right)^2 - \frac{1}{2} =$$

$$\left(-\frac{2}{5}\right)^{(-2)} - \left(-\frac{1}{4}\right) =$$

$$\left(\frac{1}{4}\right)^2 - \left(-\frac{1}{3}\right) =$$

$$\left(\frac{1}{2}\right)^{(-2)} - \left(-\frac{1}{4}\right) =$$

$$\left(\frac{2}{5}\right)^2 + \frac{1}{2} =$$

$$\left(\frac{1}{4}\right) - \left(-\frac{3}{4}\right) =$$

$$\left(\frac{3}{5}\right)^{(-2)} + \frac{1}{2} =$$

$$\left(\frac{3}{5}\right)^2 + \frac{2}{5} =$$

$$\left(-\frac{1}{5}\right)^{(-2)} + \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{1}{3}\right)^{(-2)} + \frac{3}{4} =$$

$$\left(-\frac{1}{4}\right)^{(-1)} + \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{1}{5}\right)^0 + \left(-\frac{2}{5}\right) =$$

$$\left(\frac{3}{4}\right)^{(-1)} + \frac{1}{3} =$$

$$\left(-\frac{1}{2}\right)^2 - \left(-\frac{2}{5}\right) =$$

$$\left(\frac{1}{6}\right)^{(-2)} - \left(-\frac{3}{5}\right) =$$



Name: \_\_\_\_\_

Date: \_\_\_\_\_ Score: \_\_\_\_\_

$$\left(-\frac{3}{4}\right)^2 + \frac{3}{4} = \frac{21}{16} = 1\frac{5}{16}$$

$$\left(\frac{1}{2}\right)^{(-1)} + \frac{1}{4} = \frac{9}{4} = 2\frac{1}{4}$$

$$\left(\frac{1}{2}\right)^2 + \frac{3}{4} = 1$$

$$\left(\frac{1}{6}\right) - \frac{2}{5} = \left(-\frac{7}{30}\right)$$

$$\left(-\frac{1}{5}\right)^2 + \frac{1}{4} = \frac{29}{100}$$

$$\left(\frac{1}{3}\right)^2 - \frac{1}{2} = \left(-\frac{7}{18}\right)$$

$$\left(-\frac{2}{5}\right)^{(-2)} - \left(-\frac{1}{4}\right) = \frac{13}{2} = 6\frac{1}{2}$$

$$\left(\frac{1}{4}\right)^2 - \left(-\frac{1}{3}\right) = \frac{19}{48}$$

$$\left(\frac{1}{2}\right)^{(-2)} - \left(-\frac{1}{4}\right) = \frac{17}{4} = 4\frac{1}{4}$$

$$\left(\frac{2}{5}\right)^2 + \frac{1}{2} = \frac{33}{50}$$

$$\left(\frac{1}{4}\right) - \left(-\frac{3}{4}\right) = 1$$

$$\left(\frac{3}{5}\right)^{(-2)} + \frac{1}{2} = \frac{59}{18} = 3\frac{5}{18}$$

$$\left(\frac{3}{5}\right)^2 + \frac{2}{5} = \frac{19}{25}$$

$$\left(-\frac{1}{5}\right)^{(-2)} + \left(-\frac{3}{4}\right) = \frac{97}{4} = 24\frac{1}{4}$$

$$\left(-\frac{1}{3}\right)^{(-2)} + \frac{3}{4} = \frac{39}{4} = 9\frac{3}{4}$$

$$\left(-\frac{1}{4}\right)^{(-1)} + \left(-\frac{1}{5}\right) = \left(-\frac{21}{5}\right) = \left(-4\frac{1}{5}\right)$$

$$\left(-\frac{1}{5}\right)^0 + \left(-\frac{2}{5}\right) = \frac{3}{5}$$

$$\left(\frac{3}{4}\right)^{(-1)} + \frac{1}{3} = \frac{5}{3} = 1\frac{2}{3}$$

$$\left(-\frac{1}{2}\right)^2 - \left(-\frac{2}{5}\right) = \frac{13}{20}$$

$$\left(\frac{1}{6}\right)^{(-2)} - \left(-\frac{3}{5}\right) = \frac{183}{5} = 36\frac{3}{5}$$